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Success Criteria

Aim
• I can use known facts to multiply and divide mentally.

• I use factors to make multiplication and division calculations easier.

• I can multiply by 9 and 11 by multiplying by 10 and adjusting.

• I can multiply by 5 by multiplying by 10 and halving.

• I can multiply by 50 by multiplying by 100 and halving.
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Can you help Billy Builder with his multiplication?

The Fifteen Times Table

15 30 45 60 75 90 105 120 135 150

1 × 15 2 × 15 3 × 15 4 × 15 5 × 15 6 × 15 7 × 15 8 × 15 9 × 15 10 × 15

Which multiples
are easy to work out?

2 × 15 is double 15.
4 × 15 is

double 2 × 15 OR
5 × 15 - 15.

5 × 15 is half
10 × 15.

6 × 15 can be 
calculated as
5 × 15 + 15.

9 × 15 can be 
calculated as
10 × 15 - 15

Which ones are left?
Can you work out the 

answers?
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Let’s calculate 56 × 9.

Multiplying by Nine 

Multiplying by
10 is really easy. Each

digit in the number moves 
one place to the left because 

the number becomes ten 
times bigger. 

To show that
there are no ones in this
new number, you put a 0

in the ones column as
a place holder.
56 × 10 = 560

Multiplying by 9
isn’t so easy, but we

can work it out easily by 
multiplying by 10 and 
subtracting 1 group of

the number.

56 56 56 56 56 56 56 56 56 56

56 56 56 56 56 56 56 56 56

We have calculated
10 groups of 56, but we

only need 9 groups
of 56.

We adjust by
subtracting the extra

group of 56 from our total.  
560 - 56 = 504
so 9 × 56 = 504

H T O

5 6

5 6 0
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Let’s calculate 74 × 11.

Multiplying by Eleven

74 74 74 74 74 74 74 74 74 74

74 74 74 74 74 74 74 74 74 74 74

H T O

7 4

7 4 0

Multiplying by
10 is really easy. Each

digit in the number moves 
one place to the left because 

the number becomes ten 
times bigger. 

To show that
there are no ones in this
new number, you put a 0

in the ones column as
a place holder.
74 × 10 = 740

Multiplying by 11
isn’t so easy, but we can 

work it out by multiplying 
by 10 and adding on
one extra group of

the number.

We have calculated
10 groups of 74, but we

need 11 groups of 74. 

We adjust by
adding on the extra

group of 74 to our total.
740 + 74 = 814
so 11 × 74 = 814
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We can multiply by 5 by multiplying by 10 and halving.

Multiplying by Five and Fifty

74 74 74 74 74 74 74 74 74 74

5 groups of a
number is half of

10 groups of
a number. 

We can multiply
by 50 by multiplying
by 100 and halving. 

50 groups of a number
is half of 100 groups

of a number.

Multiply by 5 (half of 10 ×)
68
164 
429

Multiply by 50 (half of 100 ×)
66
382
8644290 ÷ 2 = 2145

680 ÷ 2 = 340
1640 ÷ 2 = 820

6600 ÷ 2 = 3300 
38 200 ÷ 2 = 19 100
86 400 ÷ 2 = 43 200

Try these:
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We can also use the relationships between factors
to make mental calculations easier.

Fantastic Factors

71 71 71 71

284

142 142

284

If we wanted to
divide by 4, we could find 
half of the number (÷ 2)
then find half again (÷ 2) 

because we know that
2 × 2 = 4.

284 ÷ 4 = ? 
First, we must divide

284 by 2.

We then divide this 
answer by 2.

This is the same
as dividing the first

bar by 4.

284 ÷ 4 = ? 
284 ÷ 2 = 142
142 ÷ 2 = 71
284 ÷ 4 = 71 
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If we want to divide a number by 6, we could think
about the factors of 6 which are easy to calculate.

Fantastic Factors

21 21 21 21 21 21

126

63 63

126

We know that
2 × 3 = 6, so we could
divide the number by 2

and then divide the
answer by 3. 

284 ÷ 4 = ? 
First, we must divide

126 by 2.

We then divide the 
answer by 3.

This is the same
as dividing the first

bar by 6.

126 ÷ 6 = ?
126 ÷ 2 = 63
63 ÷ 3 = 21               
121 ÷ 6 = 21
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This strategy also works for multiplication.

Fantastic Factors

2608 2608

652 652 652 652 652 652 652 652

1304 1304 1304 1304

5216

Multiplying by 8
is the same as doubling
(× 2), doubling again

(to get 4 sets) and then 
doubling again
(to get 8 sets). 

We know this
because we know that

8 = 2 × 2 × 2. 

652 × 8 = ?
First, we must multiply

652 by 2.

We then multiply the 
answer by 2.

We then multiply the 
answer again by 2.

This is the same
as multiplying the

first bar by 8.

652 × 8 = ?
652 × 2 = 1304 

1304 × 2 = 2608           
2608 × 2 = 5216
652 × 8 = 5216
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Use your marvellous maths skills to complete these activities:

Build It
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What do you know now that you didn’t know at the start of the lesson?

Next Steps

Which of the strategies 
did you find the easiest?
Which strategy do you 
need to practise more?

What are your
next steps?

Set a target
for yourself and tell
your partner what
you will work on

next lesson.
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Success Criteria

Aim
• I can use known facts to multiply and divide mentally.

• I use factors to make multiplication and division calculations easier.

• I can multiply by 9 and 11 by multiplying by 10 and adjusting.

• I can multiply by 5 by multiplying by 10 and halving.

• I can multiply by 50 by multiplying by 100 and halving.
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